EARAROBEEIERT — 2 N— IBISH —F

20165F3A5H (+) 2m=+1U3H

BLY v %3 #B7 % Ust] Bk

EZS

= ‘

[REBE] — | & (%) 1800 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=R 3 | SHEK 1:57.2 10-10-5-2 | 38.9 | 87.1 | 1 508 | AR (SEiH)
75>y v— [B] 54.0 ) © | B8 ®rOvkTr—L
RiFATATv— BELTTqI—0 J—¥Tr—L
Y RITUT i 3 5-&”—» 1:{547).9 7-7-7-5 | 39.5| 81.4 | 4 474 %g:z ()
Qi g RT—NEY B TAUSINLN O a7, -n
A i 3 | AIBIEA 1:58.0 13-13-14-10{ 39.1 | 80.5 | 2 40 |NBEZ (EH)
VAV E E ]y ¥¢53.0 (5 1) © &) FoF—L—sry
Z:va7x B:7-7%+v0l J=HrTrp—L
=5 - 4 3 | SEEXH 1:58.2 10-10-12-10/ 39.5 | 78.9 | 3 464 | REE— (EH)
T4 == (B] 57:1.0 (a 1/2) (-4) (¥) O—LL—>29
R:TFyIa4K B:O-LILFT1— = e
= # 3 | RHEEE :58.2 16-15-2-1 [ 40.1 | 79.0 | 8 480 | REEM— (5H)
TA—XH— 54.0 (nF) (2) |RREM
74 =TZhA4 B:TF1—TZX<21I I7VTSTT— L4
‘— 3 _ 4 3 | AR 1:58.5 7-7-8-7 [39.9| 76.5 | 7 470 | NBAR (EH)
6[1]|2[/F=IARY 54.0 (1 3/4) (44) |Ho Ho ZTA7-FNAE
R RYA VY L—> B:T71>RA F—L— - JvIS - 77— LERE
X Ee . - 10-8- EEER ()
717l PEXEIEF L i 3 s 1.(528>.8 10-10-8-9 | 40.2 | 74.2 | 12 (4_9;0) £l
R:TFATL X214 L B hEXAFXNZ— JaGiked
;= = s 3 | IHEES 1:58.8 5-4-5-7 | 40.5| 74.3 | 6 480 | REFER— (Kid)
EH 5771 -5 K [B] 0 05 (o) | PR
R:FATASv— B:TYUF LA TS
i 3 | BBl 1:59.1 15-16-16-15( 39.8 | 71.6 | 11 458 | AFIER (EH)
97|13 ETH> 5.0 @) o | 2REE
RBATATv— B:Ry hLydX HE77—»4L
AN S RiETG :59. —-3-4- . . Rz ER)
1018116 TYLEZXITIL % 3 N 1(/?5;; 3-3-4-4 | 40.9| 721 9 (4_522) %E’E_
L:xrivH/xtx B:XT5 HEEX42y K
“ 3 | HHE 1:59.8 13-13-12-12| 41.1| 66.9 | 10 | 484 |REAHA (Kik)
11 4 7 54.0 (4) +2) AR
LT TH—Z By T A E— 23505
. 4 3 | Seli— 2:00.1 5-4-8-13 | 41.6 | 65.0 | 5 498 | FPIIARL (EiH)
1o g| AT—FxEU-2X 5.0 @ (2 |EOWS
KTy 84K B:t57 =R77—L4
PN . E2HMEE : -1-1- LEIEZ p::}
131519 IY7>Tt 3 k) 2.(050).9 1-1-1-2 | 42.9| 60.4 | 13 (458) iEeE (&)
LG4 TIxATv— BITrTarT82~)y b HET77— L
s \ s 3 | REMEC 2:02.0 7-7-14-15 | 43.1| 52.9 | 15 | 420 |m=A&XHE (=ik)
14| 510/ YN 252.0 @ (+10) | EAREEL
RNy kY yy BieSTF - HIARE Yk
SRR 4 3 | FHEEZ 2:02. 2-2-2-5 |44.1| 53.5 | 14 | 448 |fEEEEES (i)
151815 ¥ >V I /T RK2F 540 (7€) (g) | T/
x40 BiXLARRYF N E%54%
S S 3 3 | BFhIEKER 2:02.3 -4-8- . . B Feah (E#)
16 M EIEY 4 At zo2s 4-4-8-13 | 43.7| 51.7 | 16 &2} G
RiF /T4 BRY—FA4 A3 R LI 45T77—14
@ 71 L
) 52.2-39.2
NA>24 L | 13.0-11.7-13.4-13.6-13.3-13.0-13.2-13.0-13.0
® I —F—@EBIERL
13=3r= (¥9,15)16,7(5,8) (2,1,10) (11,12,14) (4,6)-13,3
20—+ — (x9,15)16(7,5,8) (2,1,10) (11,12,14) (4,6)3,13
Gol=5r= (x9,15,3)16(5,12)1(7,2,8,14) (11,4) (10,6) -1
40—+ — 3(9,12)16(15,1) (5,2)14(11,6)4(7,8)-(10,13)
[ N3
B O 12 180H4 714K 1-12 500M e E 1-6 440 JEHE 1-6-12 2,150/
8 B 12 110 6-12 330M B = 1-12 1,110 B 12-1-6 7,470
1 200M 1-6 910M B H 12-1 1,690
6 170
ABICOVWTRHDTERERRODLDE, THERLE,




